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General Instructions:
1. The question paper contains three sections Reading, Writing & Grammar and Literature.
2. Attempt questions based on specific instruction for each part.
3. Section A - READING COMPREHENSION 20 MARKS.
Section B — WRITING AND GRAMMAR 10+ 10=20 MARKS.  Section C — LITERATURE 40

MARKS.

QN SECTION - A 10M
READING COMPREHENTION
1. | . Read the following passage and answer the questions that follow: (§Marks)

Chocolate diamonds are actually brown diamonds and compared to the well- known white diamond
they aren’t much worth. Diamonds are produced in mines. The best known diamond mines are in
Australia, South Africa and Russia. The largest diamond mine was discovered in 1976 in the desert
of Australia near a little creek named Lake Argyle. Diamonds are created under very extreme
conditions of pressure and high temperature. It is a general misunderstanding that there exist only
white colourless diamonds. Actually, diamonds exist in many different colours.

Of all the diamond mines in the world, almost 80% of all diamonds produced are brownish in colour.
Because they were found in such large quantities compared to the other coloured diamonds, they
were considered as low-valued diamonds, only good for the industrial sector. But, a famous man
called Le Vian came with a marketing campaign to increase the popularity of the chocolate diamond.
Instead of calling it a brown diamond, he gave it popular names like caramel, chocolate, cinnamon
and cognac. Since his marketing campaign, chocolate diamonds are becoming very popular.

The value of a diamond is based on its shape, brightness and colour. Because white diamonds are
rare, their value is based on the fact that there are not many white diamonds around. But if you look
at the shape and brightness, then the brightest diamond in this world known to men is a brown
diamond. Before the development of the Argyle Diamond Mine in Australia in 1986, brownest
diamonds were considered, worthless for jewellery; they were not even assessed on the diamond
colour scale, and were predominantly used for industrial purposes.

However, marketing strategies changed in the 1980s and brown diamonds have become popular
gems. The change was mostly due to the supply: The Argyle mine, with its 35 million carats (7,000
kg) of diamonds per year, makes about one third of global production of natural diamonds; 80% of
Argyle diamonds are brown. The percentage of brown diamonds is lower in other mines, but it is
almost always a significant part of the total production. Consequently, scientific research on causes
of brown colour in diamond and ways to alter it has intensified.

ANSWER THE FOLLOWING QUESTIONS:

1.i | Why the Brown diamonds were considered low in value? 1
(a) because they were not so attractive

(b) because they were less to be found

¢) because they were found in such large quantity compared to the other coloured diamonds
d) because they were harmful




1.ii | What was the wrong notion about diamonds 1
l.ii | Brown diamonds became popular owingto - 1
i A. Its external factors
B. the marketing campaigns of Le Vian
C. its scarcity
1.i | State whether the given assertion is TRUE or FALSE: 1
\% Only 20% of diamonds found are of colours other than brown.
1.v | What factors determine the value of a diamond? 1
I.  Shape
II.  Colour
II.  Brightness
IV.  Shape
Ans:
a) iandii
b) 1,1, 1v
c) 1,1i,iil
d) ii, iii. iv
1.v | Find the word from the passage that means ’a planned set of actions aimed at achieving a particular | 1
1 result’. (Para 2)
1 Name the popular names given to brown diamonds by Le Vian? Why did he do so? 2
Vil
1 Why were brown diamonds considered worthless for jewellery before 1986, and what led to their | 2
viii | popularity later?
2. | Read the passage and answer the questions that follow 10M

When we stop using our legs and arms for physical work or exercise, we’re told, they could get
atrophied. If our limbs could shrink due to lack of use, how about vocal cords and tongue, [ wonder.
Because we are talking less and less with one another. Well, we do, in a manner of sorts, over
text nesgs emotions, social media and emails. But verbal articulation is on the decline, because the
other means of communication have gained greater prominence.

“We have social muscles just like we have physical muscles,” points out US surgeon
general Vivek Murthy. “And those social muscles weaken when we don’t use them.” Less
talkingmeans less social interaction face-to-face; this, say medical experts, could impact brain
function andlead to memory loss, for example. This is noticeable, especially among senior
citizens, who are left alone for long, with spouse gone and the children living far away and with
no fulfilling activity. Loneliness takes over their lives. At the other end of the spectrum are
youth, who too, feel lonelyand maybe even depressed, due to their overactive engagement with e-
devices that leaves them withlittle or no time to experience real world interactions. There is no

touch-and-feel, no external stimuli.




Not conversing in person could also mean there is less opportunity for reading facial
expressions,voice modulation and intonation, and these reflect the emotional and/or intellectual
space from which that person is talking to you. These add value to comprehension and

understanding, far more than mere texts and emotions.

Places of worship like temples and churches, mosques and synagogues were also where people,
postprayer or rituals, would meet, greet and chat. So too, at community celebrations and
functions related to weddings, births and deaths. With the worldwide decline in the number of
people regularly going to places of worship, that opportunity for real-time conversations has
reduced as well. Long periods of lockdowns during the recent Covid-19 pandemic isolated many
of us from social interactions at places of work, schools, colleges, the marketplace, restaurants
and so on. Online education, purchases, communication and work-from-home became a

necessity, but it alsomeant more isolation and loneliness in real-time.

I recently visited my father’s alma mater, Madras Christian College in Chennai. The principal,
ProfWilson, gave us a guided tour of their new facility, the MCC-MRF Innovation Park, where
research students’ cubicles in classrooms were open-ended. “Oh that,” explained Prof Wilson,
observing mypuzzled expression. “All our lives, we’ve told students not to talk, and to just listen
to the teacher.Here, the idea is to have them talk lots to each other as they work on their

computers, so that ideasare exchanged and even newer ideas germinate in a synergetic way.”

For those on the spiritual path, satsangs are a good way to interact with like-minded people.
Realized sages say that there is no loneliness if you are connected to the Divine, and you live a
lifeof selfless service, staying active in the community, extending a helping hand, with enough
roomfor self-exploration. That is, you don’t have to look for companionship in a person once

you makethe connection with higher consciousness.

Now answer the questions asked:

What impact does decrease face-to-face interaction have, according to medical experts mentioned?

a) Reduced ability to read facial expressions

b) Increased likelihood of using social media

3




c) Risk of memory loss and loneliness

d) Enhanced verbal articulation skills

il

What role did places of worship traditionally play in fostering social interactions,according
to the passage?

il

Complete the following sentence

COVID-19 pandemic exacerbates issues related to ---

iv | What example does the author give to illustrate decreased real-time conversations?
A) Declining numbers in places of worship
B) Increase in online education during the pandemic
C) Social media interactions among youth
D) Senior citizens left alone due to family distance
A Based on the discussion of Madras Christian College, what inference can be madeabout face-
to-face communication?
E) Enhanced emotional understanding
F) Reduced intellectual space
G) Less comprehension and understanding
H) Increased vocal articulation
vi | What educational approach encourages students to talk and exchange ideas freely?
2. | pick out the term from the passage that describes the loss of effectiveness due to lack of useor
vii | neglect?
2 How can self- exploration beat loneliness ?
viii
2 State whether the following statement is true or false
X
Prof Wilson, the principal of Madras Christian College, emphasized the importance of silence
over conversation in educational settings
SECTION-B
WRITING
3 Answer any one(1) of the following
3.a | Imagine you are an English teacher. You feel that speaking in English is the need of the hour. You

feel a keen desire to teach speaking in English. Write in about 100-120 words a page in your diary
expressing how you will execute your plan.
OR




3b

Write a diary entry in about 100-120 words:

Krishna went to visit a blind school as a part of their social service and moral education class. He
was so touched by the experience that he decided to share his/her feeling in a diary. Use the hints
given below and your own ideas:

Touched- -emotions -Surprised and astonished - blind children - Studying through braille -
Extraordinary sensory power - touched and felt - Better than us -very talented - Reminded us of
Helen Keller-Extraordinary experience

4. | Answer any one(1) of the following
4.a | Develop a story in about 100-150 words with the following beginning. Also give a suitable title. | 5
An old couple was living in Shobit’s adjacent flat. One day, he saw some commotion in their house.
He went there and found. (120 words)
Or
4.b | Develop a story in about 100-150 words with the following beginning. Also give a suitable title.
You have a pet parrot in a cage. One day you decided to set it free.....................
GRAMMAR
5 Answer any 10 out of 12 questions asked : 10M
5.a | Fill in the blank by using the correct form of the word in the bracket, for the given portion of letter | 1
I would like to (propose) the idea of implementing ‘Wholesome Lunch Month’ for all
school students.
5b 1. The boss asked the new joinee Aisha a few questions on her first day. Report the question | 1
the boss asked.
Do you like working in sales?
5.c | Read the conversation between Aastha and Dhruv. Complete the paragraph by reporting their | 1
statements correctly.
Mike: 1 haven’t seen you since June.
Liz: I've just come back from my holiday in Ireland.
Mike said that he had not seen Liz since June. Liz explained
5.d | Select the option that identifies the error and supplies the correction for the following line, from the | 1
headline of a news report:
TWO CHILD DIE AFTER MASSIVE FIRE BREAKS OUT IN TIRUPATI
Option no. Error Correction
A Child Children
B Die Dies
C Breaks Break
D In At
S5.e I watch the film tonight? I have finished all my homework. 1
a) Should
b) May
¢) Would
d) Do




5.f | Fill in the blank by using the correct form of the word in the bracket, for the given portion of a letter: | 1
I (request) you to have this faulty lot replaced by a new one, with the best quality at the
earliest and would appreciate if you initiated action in this matter fast.

5.g | Every one of the shirts a green collar. 1
a) have
b) is
c) are
d) has

5h | My pets ... me, when I was gone. | 1
a. will miss b. will be missing c. missed d. miss

5.1 | Stein spoke in a voice so low that the judge repeatedly her to speak up. 1
a) could ask
b) had to ask
¢) used to ask
d) would ask

5.j | One of the main solutions to such problems to show no reaction to the person in those | 1
times.

a) were

b) was

¢) supposed
d) is

5.k | I went to the dance school last Friday, but I it very much 1
a) didn't enjoyed
b) haven't enjoyed
c) don't enjoy
d) didn’t enjoy

5.1 | Neither Amala nor Kamala ... trained for the job. | 1
a. seem b. are seeming C. seems d. were seeming

SECTION-C
LITERATURE

6 Read the extract given and answer the questions asked M

a) | The girl was given the name ‘Santosh’, which means contentment. But Santosh was not always
content with her place in a traditional way of life. She began living life on her own terms from the
start. Where other girls wore traditional Indian dresses, Santosh preferred shorts. Looking back, she
says now, “From the very beginning I was quite determined that if I chose a correct and a rational
path, the others around me had to change, not me.”.

1. Who speaks the quoted words in the passage given? 1

ii. | What type of decisions did the speaker make? 1

a) Rational and logical

b) Insensible

¢) Irrational

d) Conventional
iii. | What do these words tell us about the speaker? 2
iv. | Write the synonym of the word conventional from passage given 1

OR




6.b

Intruder: (preparing to shoot) As 1 said before, this conversation bores me.
Gerrard: Don’t be a fool. If you shoot, you’ll hang for sure. If not as yourself, then as Vincent
Intruder: What is this?
Gerrard: This is your big surprise. I said you wouldn’t kill me and I was right. Why do you think I
am here today and gone tomorrow, never see tradespeople? You say my habits would suit you.
You are a crook. Do you think I am a  Sunday-school teacher?
The game’s up as far as I’'m concerned. Things went wrong with me. I said it with bullets and got
away. Unfortunately they got one of my men, and found things the fool should have burnt.
Tonight I’m expecting trouble. My bag’s packed ready to clear off. There it is.

Gerrard tells the intruder that if he shoots him, then

A. He will escape
B. He will be hanged
C. He will go to prison
D. All of these

il

What did Gerrard tell the intruder about himself?
A. alawyer

B. a director

C. a criminal

D. an author

1il.

What crime had Gerrard committed?
A. He had killed a man with bullets
B. He had robbed someone

C. He had kidnapped a kid and killed
D. He had taken bribe

iv.

What were the plans of Gerrard for that night ?

Read the extract given and answer the questions asked

M

7.a

A slumber did my spirit seal;

I had no human fears:

She seemed a thing that could not feel
The touch of earthly years.

What does the poet mean by “A Slumber Did My Spirit Seal”?
a) Deep sleep
b) Death
c) Deep sleep without any reality of life
d) Sheis alive

i

Which human fears does the poet talk about?

il

What poetic device is used in the given stanza?

a) Metaphor
b) simile

c) Alliteration
d) Anaphora




iv

Name the poet of the poem
William Blakes

William Wordsworth
William Shakespeare

John Keats

OR

7.b

They too aware of sun and air and water

Are fed by peaceful harvests by war’s long winter starv’d
Their hands are ours and in their lines we read

A labour not different from our own.

What are the universally shared components of the

a) sun, air and water
b) Money, job

c) Shelter

d) Clothes

universe?

What happens to people during wartime?
I.  War causes wealth
II.  War causes poverty
II.  War causes starvation

a) lis correct

b) Il is correct

¢) Iand Il are correct
d) II and III are correct

Explain  “Their hands are ours.” What can we see in their

hands?

“In their lines we read.” What do we read in their lines?

Answer any four(4) of the following questions

3x4=
12M

Describe the room in which the doctor lived.

il

How does the poet’s beloved become an inseparable part of nature?

iil.

What is the belief of the people at Pashupatinath temple?

iv.

“So hack and chop. But this alone won’t do it.” What does hack and chop do to a tree?

What is a legend? Why the poem ‘The Legend of The Northland’ is called a legend?

Answer the following questions

3x2=
6M

Which three things made the author’s house a home?

il

Introduce Behrman and write about his dream?

il

How did the kingdom become normal again?

10.

Answer any one(1) of the following

6M

Compare and contrast the atmosphere in and around the Baudhnath shrine with that in the
Pashupatinath Temple.
OR




b. | ‘Childhood’ is the formative period of a child’s life. The lessons learnt here always stays with a
person. Comment on it in the light of the lesson A.P.J. Abdul Kalam.

11 | Answer any one(1) of the following 6M

a. | How did the swallow become the source of happiness for the prince?

b. | How did Olga transform Luskoff into a better human being?




KENDRIYA VIDYALAYA SANGATHAN, GUWAHATI REGION
SESSION ENDING EXAM (2024 -25)
CLASS: IX SUBJECT: MATHEMATICS (Set-1)
TIME: 3 Hours Maximum Marks: 80

General Instructions:
Read the following instructions carefully and follow them:

1. This question paper contains 38 questions

2. This Question Paper is divided into 5 Sections A, B, C, D and E.

3. Section A, Questions no. 1-18 are multiple choice questions (MCQs) and questions no. 19 and 20 are
Assertion- Reason based questions of 1 mark each.

4. Section B, Questions no. 21-25 are very short answer type (VSA) questions, carrying 02 marks each.

5. Section C, Questions no. 26-31 are short answer (SA) type questions, carrying 03 marks each.

6. Section D, Questions no. 32-35 are long answer (LA) type questions, carrying 05 marks each.

7. Section E, Questions no. 36-38 is case study-based questions carrying 4 marks each with sub parts of the
values of 1, 1 and 2 marks each respectively.

8. All Questions are compulsory. However, an internal choice in 2 Questions of section B, 2 Questions of
section C and 2 Questions of section D has been provided. And internal choice has been provided in all the 2
marks questions of Section E.

9. Draw neat and clean figures wherever required.

10. Take = =22/7 wherever required if not stated.

11. Use of calculators is not allowed.

SECTION: A
Q. N. QUESTION Marks
1 The degree of the Polynomial: 3y>-4y3+8y®+3y-1 is 1
a) 1 b)5 c)6 d) not defined
2 On plotting P (-3, 8), Q (7, -5), R (-3, —8) and T (-7, 9) are plotted on the graph paper, 1
then point(s) in the third quadrant are:
a)Pand T b) Q and R c)Pand R d) Only R
3 If the coordinates of the two points are P(—2, 3) and Q(—3, 5), then (abscissa of P — 1
abscissa of Q) =
a —5 b) — 2 c)—1 d) 1
4 Perimeter of an equilateral triangle is 60 m. the area is 1
a) 10\3m2.  b)15V3 m2 ¢ )20V3 m2 d )100V3 m?
5 In APQR, 2R = 2P and QR =4 c¢cm and PR = 5 cm. Then the length of PQ is 1
a) 2.5cm b) 4 cm ¢) Scm d)2cm
6 The basic facts which are taken for granted, without proof, are called 1
a) axioms b) theorems ) propositions d) lemmas
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7 In Triangle ABC which is right angled at B. Given that AB =9cm, AC = 15cm and D, E
are the mid-points of the sides AB and AC respectively. Find the length of BC?
a) 13cm b) 13.5cm ¢) 12cm d) 15cml
8 45 + 575 is equal to:
a) N5 b) 9V10 ¢) 5V10 d) 75
9 In figure, what is z in terms of x and y?
(a)x+y-180° (b) x +y + 180°
(c) x+y+360° (d) 180° - (x +y)
10 The bisectors of angles of a parallelogram form a:
(a) trapezium (b) rectangle (c) rhombus (d) kite
11 Class mark of the class 70-80 is
(a)65. (b)85 (c)75 (d) 150
12 In the given figure, AOB is a diameter of a circle and CD || AB. If C—-D
2BAD =30°, then ZCAD =?
(2)45° (b) 60° A B
(c) 50° (d) 30°
13 In the given figure, value of'y is A
(a)35° (b)140° A
(€)70%+x. (d)70° ﬁ
14 A solid is in the shape of a cone standing on a hemisphere with both their radii being
equal to 1cm and the height of the cone is equal to its radius. The volume of the solid is
a) mem’ ¢) 2mem’ 4nem’ d) 3n cm®
15 If the surface area of a sphere of radius “R” is equal to the curved surface area of a
hemisphere of radius “r”, what is the ratio of R/r?
a) % (b) 1~2 (c)2 (d)\2
16 Find the value of k, if x = 2, y = 1 is a solution of the equation 2x + 3y =k
a)s (b) 2 (c)8 (d)7
17 ABCD is a rhombus such that ZACB =40° then £ADB is
a) 60° (b) 140° (c)70° (d)50°
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18

If O is the centre of the circle, find the value of x in the given
figure:

a) 50° (b) 140° (c)70°

(d)60°

Questions 19 and 20 are assertion and reason-based questions with the following
four options.

(a)Both Assertion (A) and Reason(R) are true and Reason(R) is the correct explanation
of Assertion (A).

(b)Both Assertion (A) and Reason(R) are true but Reason(R) is not the correct
explanation of Assertion (A).

(c)Assertion (A) is true but Reason(R) is false.

(d)Assertion (A) is false but Reason(R) is true.

19

Assertion (A): V2 is an irrational number.

Reason(R): The decimal expansion of V2 is non-terminating non-recurring.

20

Assertion (A): The point (1, 1) is the solution of x +y =2.

Reason (R): Every point which satisfies the linear equation is a solution of the equation.

SECTION: B

Q. N.

QUESTION

Marks

21

g by rationalising the denominator.

OR
(B) Represent 3 on the real number line.

6—4
6+4

(A) Simplify

22

(A) Ifapoint C lies between two points A and B such that AC = BC, then prove that
AC =1/2 AB. Explain by drawing the figure
OR
(B) In Fig. 5.10, if AC = BD, then prove that AB = CD.

B D

23

Express 0.666666...... in the form of p/q.
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24

]
PREAEI EEEIE) S RS
-

w

Observe the above figure and complete the following statements:
(i) The coordinates of point Bare ( _, )

(i1) The x-coordinate and the y-coordinate of the point M are and

(ii1) The coordinates of point L are ( _, ).

(iv) The x-coordinate and the y-coordinate of the point S are

25

Given below are the seats won by different political parties in the polling outcome of
a state assembly elections:
Political Party A B C D E F
Seats Won 75 55 37 29 10 37

(i) Draw a bar graph to represent the polling results.

(i) Which political party won the maximum number of seats?

SECTION: C

Q. N.

QUESTION

Marks

26

Evaluate (99)2 using suitable identity.

27

Give possible expressions for the length and breadth of a rectangles, whose area is

given by the expression; 35x% + 13x — 12. Find the length and breadth if x = 10.

28

If two equal chords of a circle intersect within the circle, prove that the segments of

one chord are equal to corresponding segments of the other chord.

29

Write linear equation 3x + 2y =18 in the form of ax + by + ¢ = 0. Also write the values
of'a, b and c. Are (4, 3) and (1, 2) solution of this equation?
OR

Write three solutions for the equation: 2x +y =7
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30

(a) ABCD is a parallelogram and AP and CQ are perpendiculars from vertices A
and C on diagonal BD.

Show that (i) AAPB = ACQD (i) AP = CQ
OR

(b) Diagonal AC of a parallelogram ABCD bisects £A (see Fig. 8.19). Show that
1) it bisects £C also,  ii) ABCD is a thombus

31

The following table gives the life times of 400 neon lamps:

Life Time (in hours) Number of lamps

300 — 400 14

400 — 500 56

500 — 600 60

600 — 700 86

700 — 800 74

800 —900 62

900 — 1000 48

(i) Represent the given information with the help of a histogram.

(i1)) How many lamps have a life time of less than 600 hours?

SECTION: D

Q.N.

QUESTION

Marks

32

Using factor theorem, factorize the polynomial: x3 — 6x? + 3x + 10

33

3-V5 3+/5
s andg = ;—\/g; find value of p? + ¢2.

Ifp =

34

(a) The volume of a right circular cone is 9856 cm?®. If the diameter of the base is
28 cm, find
(i) height of the cone (i1) slant height of the cone
(iii) curved surface area of the cone

OR
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(b) A dome of a building is in the form of a hemisphere. From inside, it was white-
washed at the cost of Rs.4989.60. If the cost of white-washing is Rs. 20 per square
metre, find the

(1) inside surface area of the dome. (ii) volume of the air inside the dome.

35

In right triangle ABC, right angled at C, M is the mid-point of D A\
hypotenuse AB. C is joined to M and produced to a point D
such that DM = CM. Point D is joined to point B.
Show that:
(i) AAMC = ABMD (i) «DBC is a right angle. B
(iii) ADBC = AACB (iv)CM =" AB

OR A

A ABC and A DBC are two isosceles triangles on

the same base BC and vertices A and D are on the

same side of BC. If AD is extended to intersect BC at P, +D
show that

(i) AABD = A ACD (i) A ABP = A ACP
(iii) AP bisects 2A as well as 2D. (iv) AP is the perpendicular bisector of BC.

B P Ee

SECTION: E

o

QUESTION

MARKS

36

Arnav took his family to watch a movie in NCS

SQUARE MALL.. He paid Rs. 360/- for all his

family members. Taking the number of adults X and

| Adults- Rs.90/-

| Kids-Rs.60/- _
(Per Person) '

E = .

number of kids Y, answer the following questions.

(i) Express the paid amount mathematically
in linear equation.

(i1))  Arnav paid Rs. 540/- for movie. There are two adults in her family. How
many kids are there in family?

(iii)  Arnav’s Friend Peter was excited about the movie. He wants to watch movie

with his wife and three kids. Arnav also joined them. How much money they
paid for the movie.

OR

1+1+2
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(iv)  Total amount paid by Arnav and Peter for their family members only.

37

Mathematics teacher of a school took her 9th
standard students to show Red Fort. It was a part

of their Educational trip. The teacher had

YYVUTYEY

interest in history as well. She narrated the facts

of Red Fort to students. Then the teacher said in

this monument one can find combination of solid figures. There are 2 pillars which are
cylindrical in shape. Also 2 domes at the corners which are hemispherical.7 smaller
domes at the centre. Flag hoisting ceremony on

Independence Day takes place near these domes.

i. How much cloth material will be required to cover 2 big domes each of radius
2.5 metres?

ii. Ifin place of domes there will be a conical structure of same radius and height
12m write the formula to find the volume of cone.

iii. Find the lateral surface area of two pillars if height of the pillar is 7m and radius
of the base is 1.4m.

OR
iv. Find the volume of a hemisphere if the radius of the base is 2.1 m?

1+1+2

38

Harish makes a poster in the shape of a parallelogram on the topic SAVE
ELECTRICITY for an inter-school competition as shown in the follow figure.

i. IfAB=(2m-3)and CD =5 cm then what is the value of m?
ii. If £ZB=(2y)0 and £D = (3y - 6)°, then find the value of'y.

iii. If 2A=(2x-3)0 and 2C = (4y + 2)°, then find how x and y relate.
OR

iv. If £A = (4x +3)9 and 4D = (5x - 3)9, then find the measure of £B.

1+1+2

dokdokdok R kR ok
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KENDRIYA VIDYALAYA SANGATHAN
GUWAHATI REGION(2024-25)
SESSION ENDING EXAM
CLASS-IX
SUBJECT- SCIENCE (086)
MAX MARKS= 80 TIME= 3 HOURS

GENERAL INSTRUCTIONS :-

1) This question paper consists of 39 questions in 5 sections.

i1) All questions are compulsory. However, an internal choice is provided in some questions. A student
is expected to attempt only one of these questions.

ii1) Section A consists of 20 objective type questions carrying 1 mark each.

iv) Section B consists of 6 Very Short Answer type questions carrying 02 marks each. Answers to these
questions should be in the range of 30 to 50 words.

v) Section C consists of 7 Short Answer type questions carrying 03 marks each.

Answers to these questions should be in the range of 50 to 80 words.

vi) Section D consists of 3 Long Answer type questions carrying 05 marks each.

Answers to these questions should be in the range of 80 to 120 words.

vii) Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-parts

SECTION - A

Q.NO. QUESTIONS MARKS

1 In the tincture of iodine, find the solute and solvent? 1
(a) alcohol is the solute and iodine is the solvent

(b) iodine is the solute and alcohol is the solvent

(c) any component can be considered as solute or solvent
(d) tincture of iodine is not a solution

2 Cell organelles that have their own DNA are : 1
a) Mitochondria and plastids c) Plastids and Golgi apparatus
b) Mitochondria and lysosomes d) vacuoles and plastids

3 The gravitational force between two objects is F. If masses of both objects 1

are halved without changing distance between them, then the gravitational
force would become

(a)F/4 (b)F/2 (c)F (d)2F
4 The work done on an object does not depend upon the 1
(a)displacement (b)force applied

(c)angle between force and displacement  (d)initial velocity of the object

5 Which of the following is an example of Newton’s third law of motion? 1
a) A rocket launching into space

b) A car accelerating on a straight road

¢) A person pushing a box across the floor
d) A book resting on a table




The frequency of a sound wave determines its:
a) Loudness

b) Speed

c) Wavelength

d) Pitch

Choose the correct one : Poultry farming is undertaken to raise following
(1) Egg production (ii)Feather production

(ii1)Chicken meat (iv)Milk production

(a)(i)and(iii) (b)(i)and(ii)
(c)(ii)and(iii) (d)(iii)and(iv)

X and Y are two elements whose atomic numbers are 18 and 20 respectively
but their mass numbers remain the same as 40. What is the relationship
between X and Y?

a)lsobars

b)Isotopes

¢) Molecule

d)Compound

Number of valence electrons in Cl ion are:
a)l6 b)8 ¢)17 d)18

10

In the relation F=GMm/d?, the quantity G

a) depends on the value of g at the place of observation.
b) is acceleration due to gravity.

c) is greatest at the surface of the Earth.

d) is the universal constant of gravitation.

11

What is the function of the nucleus in a cell?

A) Synthesis of proteins.

B) Cellular respiration.

C) Control of cell activities and storage of genetic material.
D) Breakdown of cellular waste.

12

Two substances, A and B were made to react to form a third substance, A>B
according to the following reaction.

2A+B — A:B
Which of the following statements concerning this reaction is correct?

a) The product A > B shows the properties of substances A and B.
b) The product will always have a fixed composition.

¢) The product so formed cannot be classified as a compound

d) The product so formed is an element.

13

If the speed of sound in air is 344 m/s, then the minimum distance required
between the source and the reflecting surface to hear an echo is:
(a) 10 meters




(b) 17.2 meters
(c) 20 meters

(d) 34 meters

14 Water hyacinth floats on water surface because of 1
(a) Parenchyma (b)Chlorenchyma
(c)Aerenchyma (d)Collenchyma

15 Which cell organelle contains digestive enzymes and helps in the digestion of | 1
cellular waste?
(a) Golgi apparatus (b) Endoplasmic reticulum
(c) Mitochondria (d) Lysosomes

16 Which of the following is a pure substance? 1
A) Air

B) Sugar solution
C) Salt solution
D) Gold

DIRECTION: In each of the following questions, a statement of Assertion (A) is given and a
corresponding statement of Reason (R) is given just below it. Of the statements, given below, mark the
correct answer as:

(a) Both A and R are true and R is the correct explanation of assertion.

(b) Both A and R are true but R is not the correct explanation of assertion.
(c) A is true but R is false.

(d) A is false but R is true.

17

Assertion : Newton’s third law applies to all types of forces. e.g. gravitational, | 1
electric or magnetic forces etc.

Reason : Newton’s third law of motion is applicable only when bodies are in
motion.

18

Assertion (A): Water do not stay on the surface of leaf. 1
Reason (R): Leaves are covered with cutin.

19

Assertion (A):As the temperature of a matter rises, particles move faster. 1
Reason (R) :With increase in temperature the potential energy of the particles
increases.

20

Assertion (A): Uniform circular motion is an example of accelerated motion. 1
Reason(R): The magnitude of velocity is continuously changing in case of
uniform circular motion.

SECTION - B

21

What would happen if plant cells lack plastids? 2

22

a) Itis a hot summer day, Aviraj and Ridhi are wearing cotton and nylon 2
clothes respectively. Who do you think would be more comfortable and
why?

b) What produces more severe burns, boiling water or steam? Why?




23

A motor vehicle has a mass of 1500 kg. What must be the force between the
vehicle and road if the vehicle is to be stopped with a negative acceleration of
1.7 ms™? What does the sign of force indicate?

OR

Observe the diagram and answer the questions given below:

(1)Which direction does the balloon move when the thread tied to its neck is
removed and why?

(i1)State the conclusion drawn from this activity.

24

Calculate the work done in pushing a cart through a distance of 50 m against
the force of friction equal to 250 N. Also state the type of work done.

25

An Italian bee variety A. mellifera has been introduced in India for honey
production. Write about its merits over other varieties.

OR
Differentiate between capture fishery and culture fishery.

26

What observations in a scattering experiment led Rutherford to make the
following observations:
(1) Most of the space in an atom is empty.

(i1) Nucleus is positively charged.

SECTION - C

27

The teacher instructed three students ‘A’, ‘B’ and ‘C’ respectively to prepare a
50% (mass by volume) solution of sodium hydroxide (NaOH). ‘A’ dissolved
50g of NaOH in 100 mL of water, ‘B’ dissolved 50g of NaOH in 100g of water
while ‘C’ dissolved 50g of NaOH in water to make 100 mL of solution. Which
one of them has made the desired solution and why?

28

Draw a plant cell and label the following:
(1)The site of cellular respiration




(i1) The rigid part composed of cellulose
(i11)The network of membrane bound tubes
(iv)Genetic material

29 a) The number of protons, neutrons and electrons in particles from
A to E are given below:
Particle Protons Neutrons Electrons
A 17 18 17
B 3 4 2
@ 18 22 18
D 17 20 17
E 9 10 10
(1)Which one is a cation?
(i1) Which one is an anion?
(ii1)) Which represents a pair of isotopes?
b) Draw the schematic atomic structure of chlorine.
OR
a) The number of electrons in the outermost ‘L’ shell of an atom
is 5.
(1) Write its electronic configuration.
(i1) What is its valency and why?
(ii1)) Name the element.
b) Draw the schematic atomic structure of calcium .

30. What is a neuron? Write the structure and functions of a neuron.

31. The brakes applied to a car produce an acceleration of 6m/s? in the opposite
direction to the motion. If the car takes 2 s to stop after the application of
brakes, calculate the distance it travels during this time.

32. (a)What is reverberation? Write two ways of reducing reverberation.

(b) Distinguish between tone and note.
33. Why is excess use of fertilizers detrimental for the environment?
SECTION - D
34. a) Suppose the mass of the earth somehow increases twice without any change

in its size. Calculate to show how would your weight change?

b) If the radius of the earth becomes twice of its original radius without any
change in its mass, using the formula show how the weight of any object would
change?

c¢) Write the unit of gravitational constant.

OR

a a) Write any one difference between acceleration due to gravity and

universal gravitational constant. Write the relation between ‘g’ and ‘G’.

b) State universal law of Gravitation.

¢) At what point on earth’s surface gravity is maximum?




35. a)Write down the formula of :
(1) Sodium oxide (ii) Aluminium chloride
(i11) Sodium sulphide (iv) Magnesium hydroxide
b) Give one point of difference between an atom and an ion.
(c) Give one example each of a polyatomic cation and an anion.
OR
a)Calculate the formula unit masses of ZnO, Na>O, K>COs
[ Atomic mass of Zn = 65u, O =16 u, Na=23u, K=39u, C =12u]
b) State the law of constant proportions. Show that water illustrates the law
of constant proportions.
36.
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a) Observe the above images and answer the following questions:

A B

Identify the
tissue/muscle with
which it is composed
of

Characteristics of
tissue

b) Draw a labelled diagram of any one tissue you have identified above.

OR




a) Name the plant tissue present in coir.

b) Mention the properties of above-mentioned plant tissue which makes it
suitable for such wide range of use.

c) Draw well labelled diagrams of above-mentioned tissue.

SECTION — E(Case based Questions)

37

In an open vessel, the liquid keeps on evaporating. The particles of liquid
absorb energy from the surrounding to regain the energy lost during
evaporation. This absorption of energy from the surroundings makes the
surroundings cold. What happens when you pour some acetone (nail polish
remover) on your palm? The particles gain energy from your palm or
surroundings and evaporate causing the palm to feel cool. After a hot sunny
day, people sprinkle water on the roof or open ground because the large latent
heat of vaporization of water helps to cool the hot surface.

1.) As temperature increases the rate of evaporation is(1)

a.) increases

b.) decreases

¢.) remains constant

d.) None of these

ii.) The rate of evaporation increases with(1)

a.) Increase in wind speed

b.) Decrease in wind speed

c.) Does not have any effect from wind speed

d.) None of these

iii.) What happens when you pour some acetone (nail polish remover) on your
palm?(2)

OR

iv) We are able to sip hot tea from saucer than from cup. Why?(2)

38

The Golgi apparatus, first described by Camilo Golgi, consists of a system of
membrane-bound vesicles (flattened sacs) arranged approximately parallel to
each other in stacks called cisterns. These membranes often have connections
with the membranes of ER and therefore constitute another portion of a
complex cellular membrane system. The material synthesised near the ER is
packaged and dispatched to various targets inside and outside the cell through
the Golgi apparatus.

(1) A system of membrane-bound flattened sacs arranged approximately
parallel to each other in stacks are called as (1)

(a) Cisterns

(b) Vesicles

(c) Golgi complex

(d) Vacuoles

(i1) Give two examples of substances that might be packaged by the Golgi
apparatus.(1)




(ii1) Enlist the function of Golgi apparatus.(2)
OR

What would happen to the life of a cell if there was no Golgi apparatus?(2)

39

Energy can be changed from one form to another. What happens to the total
energy of a system during or after the process? Whenever energy gets
transformed, the total energy remains unchanged. This is the law of
conservation of energy. According to this law, energy can only be converted
from one form to another; it can neither be created nor destroyed. The total
energy before and after the transformation remains the same. The law of
conservation of energy is valid in all situations and for all kinds of
transformations. Thus during motion the sum of the potential energy and
kinetic energy of the object would be the same at all points. That is, potential
energy + kinetic energy = constant and is called mechanical energy.

(1) When ball drops from height, which of the following energy conversion
takes place(1)

(a) Gravitational potential energy converted into kinetic energy

(b) Kinetic energy converted into Gravitational potential energy

(c) Heat energy converted into electrical energy

(d) None of these

(i1) When the ball is thrown vertically upward, which of the following quantity
remains constant?(1)

(a) Energy

(b) Force

(c) Potential energy

(d) None of these

(ii1) State law of conservation of energy.(2)

OR

(i11) Write the energy conversion in hydroelectric power station.(2)
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General Instructions:

Question paper comprises Six Sections — A, B, C, D, E and F. There are 37 questions in the
question paper. All questions are compulsory.

Section A— Question no. 1 to 20 are MCQs of 1 mark each.

Section B—Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks
each. Answer to each question should not exceed 40 words.

Section C Question no. 25 to 29 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 60 words.

Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.

Section-E — Questions no. 34 to 36 are case based questions with three sub questions and all
of 4 marks each.

Section F—Question no.37 is Map based, carrying 5 marks with two parts,37 a from History
(2marks) and 37 b from Geography (3 marks).

There is no overall choice in the question paper. However, an internal choice has been provided
in few questions. Only one of the choices in such questions have to be attempted. In addition
to this, separate instructions are given with each section and question, wherever necessary.
liig-vagﬁa»—«q"m 9es (1X20=20)
SECTION A MCQs (1X20=20)
Q1. TA.TE.d & I & 1
(@) =ZAdH FALT Hed  (b) HTVSIH FHIAT o

(c) AT §AYT FeF (d) 3WFd #H & Plg 7ar

MSP refers to :

(a)Minimum Support Price (b)Maximum Support Price

(c)Marginal Support Price (d)None of the above

Q2. T 3meRd: i few arv AT 3R uesT &1 fagawor &+ 1

Picture Based: Analyse the picture and the question given below
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Picture 4.1 Starvatiorn victims arriving at a
relicf centre. 1945.

FT AT g Tohd ¢ [ O 7 fe@mar ar aRar wie § 3k #4912

() FAIOT F HRT § Fgd FAR IR I @ &l
(b) ¥ gATH FIS T8I & ol

(c) & IER 3Maiiiash & T gall sferg o © &1

(d) 3WFT T

Can you say that the family shown in picture is a poor and why?

(a)They look very weak and thin due to malnutrition.
(b)They are wearing minimum clothes.
(c)They are moving to another place for better livelihood.

(d)All the above.

Q3. fader- fAFafaf@d e & fav |er fasheq = 1

gTar (T): IR Hifd & aRTeT 3Tde F AR TR TTaNiasd HT HT Hlel
qr |

HRUT (IR): ATFGFATTT JITEITW o Adstioten F&TT AT HT Aqed o, TSeenr
3ECRT 3T ATIHT A it I GI&T HIAT AT |

(a) gm@T (T) 3R SROT (3R) gl T g, 3R 3R, T &7 JgT TICIRT ¢
(b) gm@T (T) 3R SROT (3R) ST TcT g, oAfched 3R, T &l Tal TISCIHIUT gl ol

(c) T T §, oifeheT 3R Tl &l
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(d) T I g, WAfhel 3R T g
Instructions:-For the following questions, choose the correct option:

Assertion (A): The Reign of Terror was a period of severe political repression during the
French Revolution.

Reason (R): Maximilien Robespierre led the Committee of Public Safety, which aimed to
protect the Revolution from its enemies.

(a) Both Assertion (A) and Reason (R) are true, and R is the correct explanation of A.

(b) Both Assertion (A) and Reason (R) are true, but R is not the correct explanation of A.
(c) A is true, but R is false.

(d) A is false, but R is true.

Q4. TohE g & T SISt Feiel H AMfAeT oTel U2 1

(a) FRIR (b) GHIER (c) FGETSr Hofe (d) Huwel IET

Which group of people did not join the Jacobin club ?
(a) Artisans (b) Shopkeepers (c) daily-wage workers (d) Men with property

Q5. JauR® & ygdr - 1
1. goelel "% FFYfaee AfAhee!" T AFY & T FgdaT fovar|

2. 35 FATSEAET fAeuia & Aderere fGar 3R Affe et 1 @ade faa)
(a) el AT (d) ASE 3T (c) S seleh (d) HsRF Torexw

Identify the thinker
1. He collaborated with Marx on "The Communist Manifesto."
2. He contributed to socialist theory and supported workers' movements.

(a) Karl Marx (b) Robert owen (c) Louis blanc (d) Friedrich Engels

Q 6: 3TFes hifd H SeAfdent 1 TAAS F8g Fa71 AT? 1
(a) TadUTfaAsh TSI ST TATIAT HLAT (b) SRS AT AT FLT

(c) TATSATET IsT HI TATTAT AT (d) FEUR TSR Hl TATT IGAT

What was the primary goal of the Bolsheviks in the October Revolution?
(a) To establish a constitutional monarchy ( b) To implement democratic elections
(c) To establish a socialist state (d) To maintain the Provisional Government
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Q 7. R T T HIAT A FHol ofa1S fhcflt 872 1

(a) oETST 15,200 foReY (b) SRTET 14,500 foReY

(c) SITHIT 16,000 fraT (d) ST 15,000 fraT

What is the total length of India’s land boundary?

(a) About 15,200 km (b) About 14,500 km

(c) About 16,000 km (d) About 15,000 km

Q8. I isT AT 3M&TA & S &2 T & s JEN H fFInfaa a=ar g2 1
(a) FF @1, 23°30' 3W (b) &F @1, 18°30'3 R

(c) AKX @1, 23°30'3X (d) e T@r

What is the latitude which divides the country into two equal parts?
(a)Tropic of Cancer, 23°30°N (b) Tropic of Cancer, 18°30°N
(c) Tropic of Capricorn, 23°30°N (d) Equator

Q9. FUTT ST Y& H HRT #H WA ey W HieT & 78 e sgarar &2 1
(a) 9T (b) SEAYS (c) &Y (d) Fradr

Which river is called the Dihang when it enters India in Arunachal Pradesh ?
(a)The Ganga  (b) The Brahmaputra
(¢) The Indus (d) The Kaveri

Q.10. E1aT (T): aliehd s WAL 3R ==t ¥ 3meRa & 1
FRUT (IR): Th dAlhdiNe AU & gAA Fs Afgd, Tav 3R do& fAe

gl €l

(a) A 3R R gt &7 § 3R R, A &r a8 e &

(b) A 3R R @ I § ofhad R, A &1 TEr amedr =g &l

(c) A IcT g oifthed R e &1

(d) A 318cT ¢ afhed R &I T
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Assertion(A) : Democracy is based on consultation and discussion.
Reason (R) : A Democratic decision always involves many persons, discussions and
meetings.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
(c)A is true but R is false.

(d) A is false but R is true.

Ql11. gal-(T)- dlehcdd Teh SdTecg, 3R IR 39 TWaR ¢ | 1

HRUT-(3TR) - ehehcal H A, T AR fAsqer gara gid & 3k Aot gfsear
AW AR gfsrarat X merRa g g

(a) A 3R R g 7 § 3R R, A &r T&r earear gl
(b) A 3R R Qi g § JafraT R, A I T8 =arear =81 &
() A TcF § dfeheT R Tid §

(d) A 38T g afhed R &I g

Assertion-A - Democracy is an accountable, responsive and legitimate government.

Reason-R - Democracies have regular, free and fair elections and decision-making is based
on norms and procedures.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
(c)A is true but R is false.

(d) A is false but R is true.

Q2. ffaf@a & & =i I R[AAVAT T Ahdifed IRAR FT g2ridr g2 1

(a) Tar @ Ao oa g1

(b) & it AT o g1

(c) B @I WA AR TaT & IUR W Ageayel AT aar &

(d) afeat @Y HU TT TFT P B AT AL § AT I T T TR

Which of the following characteristics depicts a democratic family?
(a) Father takes all the decisions.
(b) Mother takes all the decisions.

(c) Everyone takes important decisions based on consultations and discussions.
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(d) Daughters are not allowed to voice their opinions but sons can do the same

QI3. hET & 3TEFLT T YA Tehdeh GaRT TohaT ATl 1
(a) Tregafa ORLIGEE]

(C) SNHIHT & HGET (d) 9RT & HET =rAreier

The Speaker of the Lok Sabha is elected by:.

(a). The President ('b). The Prime Minister

( ¢). The members of the Lok Sabha  (d) The Chief Justice of India

Ql4. IQTATATAT TS H SN T Uehel T IART &7 F1 T oa1? 1

(a) & STREHT I §T 9T AT A
(b) 3e6il TgFd T IARHT & Asgafd A geAqT H Aofall T3]
(C) 3T SMET HIFd ToT IARK H Teh FeATc AT TAMAT HIA HT AT

(d) 3ARHT A 3¢ AT & FI A @ 3R 378 =gIih # 11 AAR & gHAel @
SirsT|

What was America's justification for holding people at Guantanamo Bay?

(a) They'd been discovered spying.

(b) They planned to assassinate the President of the United States.

(c) They intended to establish a Communist regime in the United States.

(d) America viewed them as foes and linked them to the September 11th attacks in New
York.

Q15. frdT ARAT AR & FHifod JSERT FT Soows giar g, df g 5Th
fAaRUT & AT gl JER @M Hehell 572 1

(a) GNH HIE H | (b) TR $r T 7 |
(c) alra 3T A | (d) #Fr 9Rwg 7 |

The fundamental rights of an Indian citizen are violated, where can he seek for remedy?
(a) Supreme Court (b) Parliament of India
(c) Election Commission (d) Council of Ministers

Q16. I & & T BT F WU W FI§ FAGR Gg # @ fFa awfos ao g
H g8 A & § 1
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On the basis of given image of graph which social group have least poverty among most
vulnerable groups:

Poverty in India 2011-12: Most Vulnerable Groups
L5
£ 50
% % 10y
28 ol
. Schedule Tribes "uhnllll: \nr:.J Trvclinn Casuanl Casual Labour
asles erty Ratio Labour Farm (non-Larm)
Rurmi) (Urtaen)
Social Groups and Economic Categories
(a) 3THAT STASIAAT | (b) =TT Sfaar
Pe B Pe B
(c) 3ThiEH® Holgy W (AT (d) IThEAD Holegy IR-FN (A)
(a) Schedule tribes. (b) Schedule castes
(¢) Casual labourers farm(rural). (d) Casual labourers non-farm(urban)

Q7. fawfaf@d & & foraed Areds @ AT ot # FUR fhar 57 Fehel &7 1

Human Capital can be improved through which of the following?

(a) Skill development
(b) Education

(c) Medical care

(d) All of those
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Q18. frEml I 3 wHel & v qd 9iffd Fea A1 S &1 380 HoF & &1

HET SITdT g7 1
(a) =FAdH FALT Hod (b) fo¥etar Ao

(c) 3R Hea (d) Trerfelar

The farmers are paid a preannounced price for their crops. This price is called ?

(a) Minimum Support Price (b) Issue Price

(c) Fair Price (d) Rationing
Q19.Waﬁﬁﬁ%¢r§éaﬂmﬂﬁﬁmﬁ%? 1

(a) & AT & STeverichd & HaAT g

(b) 3TIHRAT F HF et A HAAHT har Srar g, TEd 3cuchar A @
Sireir gl

(C) Tohellehl &G & Y Tl Y Flehd F&7 el qrer &

(d) & 3T 3R IcUIGHdT & HROT SRSHRT &I FTEThT T & HH gl

How does disguised unemployment manifest in rural areas?

a) There is a shortage of manpower in certain categories.

b) More people are employed than necessary, leading to reduced productivity.
c¢) Technically qualified individuals cannot find jobs.

d) Unemployment rates are statistically low due to low income and productivity.

Q.ffaf@a & & Fla @ e 3w afafafer §2 1
(U) U FAaTH UH Tl H UeT W &

(@) TF AT 9T g F W W 9T W@ §

(@) T IfFd arh H O W@ §

(o) Taeamerd # eqTed fagardf

Which among the following is an economic activity ?

(a) A teacher teaching in a school

(b) A mother teaching her child at home
(c) A person playing in a park

(d) A student studying in school
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ge-at sfa oy 398 weeT (2X4=8)
SECTION B VERY SHORT ANSWER QUESTION (2X4=8)

Q21.39 IR H TaT HIfAT fh 1930 d 3Td 3T FHAT H ATSAIG Hl AR AT
Fai e o=l 2 2

Discuss Why Nazism became popular in Germany by 1930.

Q22 . gATerT 3R WA sAfeat & & FgeaquT 3R faf@u| 2

Write the significant difference between the Himalayan and the peninsular rivers.

or
3qarg afor 3R ST fFeraTsh & drg A Fd]|

Differentiate between a river basin and a water divide.

Q23.'FHTIAT &7 RN’ s &7 AT 7Y 738 FHeT & v & 3eeor fav|2
What is meant by the term 'Right to Equality'? Provide two examples to illustrate this right.
Q24. RA #H T F& HA g Thll §? FIs o [9g G| 2

How can poverty be reduced in India? Suggest any two points.

@3- oY e e (3X5=15)
SECTION C SHORT ANSWER QUESTION (3X5=15)

Q25. "38er MFEE" &/ 39T AT ATCIY 8?7 FHA YEATAd fohegl al HINN H ool
E2d 3
What do you mean by "April Thesis"? Mention any two demands proposed in it.
Q26. GI&TUT 3ThTeRT H 'JUeFehIuT T &1 Y g7 3
What does ‘Segregation’ mean in South Africa?

Or
AR HiaUTe T GEdTaeT T FAT Aged 67

What is the significance of preamble to the Indian constitution?
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Q27. T & AT TH Tadx AR afFaemel =araaiferdr & Fai 3aedes AT
ST 82 3

Why is an independent and powerful judiciary considered essential for democracy?

Q28. AT Yair fidAToT 3 et $r arar iR g 3
What is the role of education in human capital formation?

Q29. UREH H I[GRIA I Jelell H UM YU H FIST al B gl 31T &,
Aferet afsar ve & goaa feardr §1 3 &4 giar 87 3

The sun rises two hours earlier in Arunachal Pradesh as compared to Gujarat in the west, but
the watches show the same time. How does this happen?

@s 3 & 3 9o (5X4=20)
SECTION D LONG ANSWER-BASED QUESTIONS (5X4=20)
Q30.mﬁmaﬂ$ﬁaﬁﬁﬁmaﬁmwaﬁﬁ§‘él 5

Explain the economic conditions in France that led to the Revolution.

Or
IR Shifd &1 @ATST H Afgen3ir I Fufa o Far wia qs17?
What was the impact of the French Revolution on the status of women in society?

Q31. '3 AT T SIHAEEAT Sl I JHAAET [AATAI H & Toh Fa7 AT
ST 87 grEdr e | 5

Why is ‘Age Composition’ considered as one of the most basic characteristics of the
population? Explain.

Or
ART &1 IR Saear 7 #15 9 AgcaquT faRAvdd FAsmsT|

Explain any five significant characteristics of the adolescent population of India.

Q32. FaATdY T & [u1 AR v T g2 5

What are the merits and demerits of an electoral competition?
11 |Page



Or
HARd H T U9 frsaeT goa dr geifaat Far §?
What are the challenges to free and fair elections in India?

Q33. FIT 3T ATA & o gRA Fifd A HRA Sl WA & ATHSA H HTcA TR Fa71 T
g7 a7 5

Do you believe that the green revolution has made India self-sufficient in food grains? How?

Or

HIGTeT 3R HTIT TEU ST oA H HEehRT ATATTAT T AT TR Teh =te ford |

Write a note on the role of cooperatives in providing food and related items.

WS 5 Hhy-3maRa 92T (4 X 3 = 12)
SECTION E CASE-BASED QUESTIONS (4 X 3 =12)
Q34.- TG I HA UTs A ¢ N rAT@d wealt & 3 S 4

A 3, IRT Fol-haft TereTeT & AT & Fo fewqt 7 50 3o Afcwaw d 95
SITAT g, STelfeh ST+ 3N 2R & YgerelA A Ig 20 3o Qfewad & 3maurd g devarl ¢
aféat T T, ST 3R HAR & o1 & AIATH e § 45 T3 AfcHad - g G B |
ool 3R, foasiaqa & AT 22 3t Afcaaa g Hehar &1 a8 & &7 3R TR H &
Te1, Ifed sqehT AT 3R Fget AT & oft fFearar § | feeATerT & Sy arent & 1f&renrera:
auT feHuTd & &I A gl §, T 227 & AT RN 7 auT gy g1 a1 auT Aerery 7 400
QA & 3178 3R ceara 3R afRaH T ToeaTe 7 10 9T & FH gidl & | G2 Jrfenrer smeim
A ST O TAAFsR o7eh s STaTor afRes AT Tael & HRUT gich § | dfehet Afferag de
o Fo fewdl # 37ergar 3R FaeR & aRIeT aTier 1 veh F37 e [ferar & | @A dlk
W, A &1 H AT Y R 7 o TAuIeTalr &7 37797a 8T 8 | 2T o 3TcIRep omar &
Al fFavAar 31 gl € | 3o Al 7 I d: 99 8 9fas 1 iR ast A waAr g
¢ | 37 fafaeransit & aelt & Shaer # fafayar & S f&ar § S 3+ garT @rv e arel
HISTeT, 3eTeh GaRT Uget SiTel dTel U 3R 3eTch Yga1 o YhR & TG H |

34.1 #RA & o @1 & A7 R A TUAE 50° C T &G STl 872 1

342 ARG H IuT & T HiF-AT ygeT 3aiErRT §7 1
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34.3 AR & A =7 d Algey g3t #F 37aT FT FIT THT 9sSaT g7 2

Read the source given below and answer the the question that follows:

In summer, the mercury occasionally touches 50° C in some parts of the Rajasthan desert,
whereas it may be around 20° C in Pahalgam in Jammu and Kashmir. On a winter night,
temperature at Drass in Jammu and Kashmir may be as low as minus 45°C.
Thiruvananthapuram, on the other hand, may have a temperature of 22° C. There are variations
not only in the form and types of precipitation but also in its amount and the seasonal
distribution. While precipitation is mostly in the form of snowfall in the upper parts of
Himalayas, it rains over the rest of the country. The annual precipitation varies from over 400
cm in Meghalaya to less than 10 cm in Ladakh and western Rajasthan. Most parts of the country
receive rainfall from June to September due to south west monsoon. But some parts like the
Tamil Nadu Coast gets a large portion of its rain during October and November. In general,
coastal areas experience less contrasts in temperature conditions. Seasonal contrasts are more
in the interior of the country. There is a decrease in rainfall generally from east to west in the
Northern Plains. These variations have given rise to variety in the lives of people in terms of
the food they eat, the clothes they wear and also the kind of houses they live in.

34.1 In which part of India the temperature rises up to 50° C during summer? 1
34.2Which wind is responsible for rainfall in India? 1
34.3 What is the impact of weather variation in different part of India? 2
Q35. & I Her s i q¢ AR AFATAET geeAt F 39 & 4

1924 3K 1928 & & & anf & o ERAr W a1$| T o, Jg ¥d <X Famn
IAT ATl SFE e 3R 3@ gUR qU oXE @ Hevehiias Hoit ) @R 9,
AT HYFd Tod ARG Al 1929 # dlcT T THADS & GUCAIRET Bl T
Ig gAY arad o forar s fedar 7 Rmae & 3T 8, a9l o 39 RS9
& U 3erd v Ul we € &, 24 3racst &, 13 fAfaaer R o av) Ig
HETT 3Teh FHET T &3 &Nl 31eTed dleT gl &, 1929 AR 1932 & orer, Tgerad
TS ARG T TET 3 3l @) 75| HiFear §g & 13, g R o, fhars
gﬁmqﬂﬁﬁyﬁ Fecamoll o SR & J9ar 947 arag o forar| AR
FCITTAT H HS T/ FA FT IR gAAT 5T 7 FAgqy fhar | 3 dhe
S 3T aTdT HeH 3O geiad gg1 1932 o, MeWfAH IcueT 1929 &
TR & 40 ufaerd d& & & I=T AT| ATHST HT AlRAT Toll IS AT 3o HH dded
feram aram| RISEIRT & FEA HHAY T @ 6 fAfSTT T qgT TS| SN B
HSH W I GRAT H A H ARAIT FCHT G SW@ FHRA &, o R for@r g
g, ‘PS8 HH A H IR §I' RISHIR FaT 1T Weld & I7 97 s & fhairt
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W oS ®|d J, T WWET VR AT H FdR & T2 ©d A S-S ARt
@edl g8, Fasi o o afafafeEr e o 3R o oRe fRren e gy TS|

35.1.%%%@%&%%@3‘? 1
35.2. AGIHST &7 ARG W AT YHIT UST? 1
35.3. SHAT 9T 3NTIF HSEY & YHT T Jeod Fi| 2

Read the given text and answer the following questions.

The years between 1924 and 1928 saw some stability. Yet, this was built on sand. German
investments and industrial recovery were totally dependent on short-term loans, largely from
the USA. This support was withdrawn when the Wall Street Exchange crashed in 1929. Fearing
a fall in prices, people made frantic efforts to sell their shares. On one single day, 24 October,
13 million shares were sold. This was the start of the Great Economic Depression. Over the
next three years, between 1929 and 1932, the national income of the USA fell by half. Factories
shut down, exports fell, farmers were badly hit and speculators withdrew their money from the
market. The effects of this recession in the US economy were felt worldwide. The German
economy was the worst hit by the economic crisis. By 1932, industrial production was reduced
to 40 per cent of the 1929 level. Workers lost their jobs or were paid reduced wages. The
number of unemployed touched an unprecedented 6 million. On the streets of Germany you
could see men with placards around their necks saying, ‘Willing to do any work’. Unemployed
youths played cards or simply sat at street corners, or desperately queued up at the local
employment exchange. As jobs disappeared, the youth took to criminal activities and total
despair became commonplace.

35. 1. How did Great Economic Depression start? 1
35. 2. What was the impact of Great Depression on US? 1

35.3. Mention the impact of the Economic Depression on Germany. 2

Q 36. & a1 e uTe 1 06 AR el weat & 3o & 4

HRA A I T U GERT Yo AT A 8 §1 8T UoT & 109 o9l &l 3eqard
Teh SHET 81 §. 8Tellleh Tod TR W IR H Fa & g2reh T Yed & T/ 4
#R-8Y fRmae 2&Y a5 &, Afha S F7 s I TheIar T 3T-37e7T TSl
H ICIT-3el9T g1 BTl & A & Il Torcm ¢ o 2011-12 F 3@ #RAT g3
HISC IHeUTd (TIAHN) 21.9 giaera ar, siafeh AL gewr, 3r/@H, 3 9w, FgR
3R NEer S oAt A T FT TR @A HARAT TR & IR 41| R 3R
3nfeer swaer: 33.7 3R 32.6 Gfderd & R U F WY & FOH WG T
91 U g1 0T RIS K Fr-Ar NI, FEF geRr, R IR I geer 7 el
TS o7 37T B SHIT oI H, I, HENISE, MY Y&, AfHlATS, TorId 3R
qRIH §Iel H I F Seo@ad REe 3m$ &1 doe 3R gRamon S s
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WRETT § & 3= Y FhE &7 f A & TN A FH FA H Thel I 8
W o AT FETU R W 3w eae Higd forar &1 aRaw semer & afHd
FUR 3R & TS A el H Aee AT g1 30 9¢2r iR A= &, Wi
T Hdsiieleh fIa0T GUR & foT SFAeR & Fehar ol

36. 1. IR # IR 3T dTel Y IS AT HloT & g7 1
36. 2. foreT AT A IrEoT & T ARy IS o rfee g2 1
36. 3. fhet T=AT #H NS H Ieo@ad FRIEE &t 715 §2 2

Read the given text and answer the following questions.

Poverty in India also has another aspect or dimension. The proportion of poor people is not the
same in every state. Although state level poverty has witnessed a secular decline from the
levels of early seventies, the success rate of reducing poverty varies from state to state. Recent
estimates show while the all India Head Count Ratio (HCR) was 21.9 per cent in 2011-12 states
like Madhya Pradesh, Assam, Uttar Pradesh, Bihar and Odisha had above all India poverty
level. Bihar and Odisha continue to be the two poorest states with poverty ratios of 33.7 and
32.6 per cent respectively. Along with rural poverty, urban poverty is also high in Odisha,
Madhya Pradesh, Bihar and Uttar Pradesh. In comparison, there has been a significant decline
in poverty in Kerala, Maharashtra, Andhra Pradesh, Tamil Nadu, Gujarat and West Bengal.
States like Punjab and Haryana have traditionally succeeded in reducing poverty with the help
of high agricultural growth rates. Kerala has focused more on human resource development.
In West Bengal, land reform measures have helped in reducing poverty. In Andhra Pradesh
and Tamil Nadu, public distribution of foodgrains could have been responsible for the
improvement.

36. 1. Which are the poorest states in India having high poverty ratios? 1
36 .2. In which states, rural as well as urban poverty is high? 1
36. 3. Which states have shown a significant decline in poverty? 2

WS UF AT HIRIA-3TaRa 92 (2+3=5)
SECTION F MAP SKILL-BASED QUESTION (2+3=5)

Q37.31) AT & U a1 Tofelifr FR@T AT W T 3R & & @y ar Nt
ol TafEed foram amar 81 o€ Fuei3il & Tl & 3o oaTull 6T ggert
FTT TUT AGART FH 3ifhd @3 W S Tel OF Q] 2

(T) U+ faed ey & T AT afda & &t 7 & &
(@) vue favg geu & e FO ofedd & St 7 ¥
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(A) Two features with A and B are marked on the given political outline map of world. Identify
these features with the help of the following information and write their correct names on the
lines marked in the map. 2

(A) One of the countries of allied power during world war-1

(B) One of the countries of central power during world war-1

(37.B) IR & 3T AART W 39gFd Icliohl & AT fe=ifaf@d v 3ifhd o =18
forg (@5 d=) 3

() AR &I AT JAR @M
(i) 39 WHR de

(iii) FrereRT Sfrer

(iv) PR ereter gk

On an outline political map of India locate and label the following with suitable Symbols. (Do
any three). 3

(i) Standard Meridian of India
(i1) Northern Circar Coast
(ii1) Chilka Lake

(iv) Gir National Park
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KENDRIYA VIDYALAYA SANGATHAN
GUWAHATI REGION
SESSION ENDING EXAMINATION 2024-25
ARTIFICIAL INTELLIGENCE (SUBJECT CODE - 417)

Max. Time: 2 Hours Max. Marks: 50
GENERAL INSTRUCTIONS:
1. Please read the instructions carefully.
2. This Question Paper consist of 21 questions in two sections: Section A & Section B
3. Section A has Objective type questions whereas Section B contains Subjective type
questions
4. Out of the given (5+16=) 21 Question, a candidate has to answer (5+10=) 15 Questions in
the allotted time of 2 hours.
5 All the questions of a particular section must be attempted in the correct order.
6. SECTION A-OBJECTIVE TYPE QUESTIONS (24 Marks)
e This section has 5 questions
e Marks allotted are mentioned against each question
e There is no negative marking.
e Do as per the instructions given.

7. SECTION B — SUBJECTIVE TYPE QUESTIONS (26 Marks)
e This section has 16 questions
e A candidate has to do 10 questions
e Do as per the instructions given
e Marks allotted are mentioned against each question.

8. All questions of a particular section must be attempted in the correct order.

SECTION A: OBJECTIVE TYPE QUESTIONS

Q-1 Answer any 4 out of 6 questions on EMPLOYABILITY SKILL (1x 4=4 marks)

Green Economy- which of the following is not a natural resource?
a) Coal
b) Petroleum
c) Electricity
d) Soil

Physical exercise is used as a stress management technique because:
a) It improves blood circulation

b) Improve self-image

c) Make us feel better

d) All of the above

Who is known as the inventor of Artificial Intelligence?
a) Charles Babbage b)John McCarthy c) Alan Turing d) Andrew Ng

What does RAM stand for?
a) Read only memory

b) Random access memory
c) Random only memory
d) None of these




Which of the following is NOT an element of communication?

a) Message
5 b) Sender
c) Receiver
d) Gateway
Which of the following is not a self-management skill?
(a) Problem solving
6 (b) Bargaining
(c) Understanding self
(d) Confidence building
Q-2 Answer any 5 out of the given 6 questions (1x5=5 marks)
Who developed python programming language?
1 a) Wick Van Rossum c) Rasmus Lerdorf
b) Guido Van Rossum d) Niene Stom
Choose the five stages of Al project cycle in correct order
a) Evaluation -> Problem Scoping -> Data Exploration -> Data
Acquisition -> Modelling
b) Problem Scoping -> Data Exploration -> Data Acquisition ->
2 Evaluation -> Modelling
c) Data Acquisition -> Problem Scoping -> Data Exploration ->
Modelling -> Evaluation
d) Problem Scoping -> Data Acquisition -> Data Exploration ->
Modelling -> Evaluation
What does probability mean?
a) The total number of possible outcomes in an event
3 b) The chance of an event happening
c) The ratio of favourable outcomes to all outcomes
d) How certain an event will occur
What ability is essential for a machine to be considered Al?
a) Flying
4. b) Learning and improving on its own
c¢) Producing heat
d) None of the above.
5 Function used to display given output in python?
a) printf () b) Input () C. print () d) None of the above
Which of the following is NOT a characteristic of Artificial Intelligence?
a) Learning
6 b) Problem-solving
¢) Human emotions
d) Reasoning
Q-3 Answer any 5 out of the given 6 questions (1x5=5 marks)




Which is the lowest form of data as per the data pyramid?
a) Data

b) Wisdom

c) Information

d) Knowledge

Which of the following is not a good practice for cyber safety
a) Use strong, unique passwords with a mix of characters for each
account.
b) Activate Two-Factor Authentication (2FA) for added security.
c) Download software from trusted sources and scan files before
opening.
d) Sharing password with friends for better friendship and trust.

The process of collecting data from websites is called
a) Web screening

b) Web scraping

c) Web browsing

d) Web surfing

How do meteorologists use statistics in weather forecasting?
a) To analyse the density of forest
b) To test the quality of rain
c) To analyse weather patterns
d) To design new buildings

Which of the following is an example of qualitative data?
a) Height of a person

b) Number of students in a class

c) Favourite colour of a person

d) Temperature of a city

Which of the following is Best Practice for Acquiring Data?
a) Information is scattered
b) Information contain missing values
c) Information is structured
d) Information is poorly presented

Q-4

Answer any 5 out of the given 6 questions (1x5=5 marks)

Find the mean of following data: 2, 4,6,8,10
a)4 b)6 c¢)4.5 d) 6.5

The datatype of 5.5 is:
Int b) Float c) String d) List

With one throw of a 6-sided die, what's the probability of getting a
number which is multiple of three?

a) 4/6

b) 3/6

c) 2/6

d) 1/6




What is Generative Al?

a) An Al that analyzes data

b) An Al that generates new data

c)An Al that only classifies data

d)An Al that only processes existing data

What is the full form of GANs?

a) Generation Adversarial Networks
b) Generative Adversarial Networks
c) Generative Agency Networks
d)None of the above

What are the Limitations of Using Generative Al:
i. Data Bias
1. Accessibility
iii. Uncertainty
iv. Creativity
a) Onlyi
b) i.andii
c) iandiii
d) Only iii

Answer any 5 out of the given 6 questions (1x5=5 marks)

Which of the following is an example of secure connection?
a) HTTP website
b) Public Wi-Fi network
c) HTTPs website
d) Unencrypted email

Which of the following is valid data type in python?
a) Number b) Date c) Array d) List

Operator gives the exponential in python?

A, ** B. % C. * D./
Which is the third stage of Al project cycle?

a) Data Acquisition c) Evaluation

b) Problem Scoping d) Data Exploration

Which of the following is the correct extension of the Python file?
a). python b) .pl c) .py d). p

Which Generative Al tool is used to generate new images by combining
different GAN models?

a) Artbreeder b) Amper Music

c) ChatGPT d) Synthesia

SECTION B- SUBJECTIVE TYPE QUESTIONS

Answer any 3 out of 5 questions on EMPLOABILITY SKILL (2x3=6 marks)
Answer each question in 20-30 words.




6 Write down the importance of communication?

7 List any 04 self-management skills.

8 What are the key skills one should possess to use ICT?
9 What are the Characteristics of Entrepreneurship?

10 Name 2 Non-renewable and 2 Renewable Resources?

Answer any 4 out of 6 questions on SUBJECT SPECIFIC SKILL (2x4=8 marks)

Answer each question in 20-30 words.

11 Give an example of Al used in daily life.?

12 Explain the term Problem Scoping and Data Acquisition in Al project
cycle?

13 What is Data Privacy? Give example.

14 Differentiate between generative Al and Conventional Al, give examples
of each?

15 What are the different operators in python?
Explain following terms:

16 a) Probability

b) Statistics

Answer any 3 out of 5 questions in 50-80 words each (4*3=12 marks)

Differentiate between Artificial Intelligence (Al) and Machine Learning

17 (ML))?

18 Explain Al project cycle? State its advantages.

19 Find the median of the following set of numbers: 12, 15, 10, 8, 9, 20?
20 Explain the benefits and limitations of using generative Al?

21 Define conditional and iterative statements with examples.
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